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	UNIVERSIDADES DE ANDALUCÍA

PRUEBA DE ACCESO A LA UNIVERSIDAD
	BACHILLERATO

ANÁLISIS DE TEXTO EN LENGUA EXTRANJERA

 (INGLÉS)


	   Instrucciones:
	Por favor, sigan los criterios de corrección redactados por esta Ponencia.



PREDATORS: SOLUCIONARIO
	(A) COMPREHENSION (4 points)


a) ANSWER QUESTIONS 1-2 ACCORDING TO THE INFORMATION GIVEN IN THE TEXT. USE YOUR OWN WORDS. (1 point per answer)

1)
Are all living animals predators? Explain.


NO, ONLY THOSE THAT KILL OTHER ANIMALS FOR FOOD.

2)
What is the difference between Dr Miller’s experience and other naturalists’ opinion?

DR MILLER THINKS GREAT PREDATORS CANNOT KILL AT WILL AND HAVE A HARD TIME OF IT, WHILE OTHER NATURALISTS THINK THAT THEIR PHYSICAL CHARACTERISTICS MAKE HUNTING EASY FOR THEM.

b) ARE THESE STATEMENTS TRUE OR FALSE? JUSTIFY YOUR ANSWERS WITH WORDS OR PHRASES FROM THE TEXT.  (0.5 points per answer)

3) A predator is an animal of great strength and size. 


FALSE. THERE ARE SMALL PREDATORS SUCH AS OWLS OR FROGS (line 3).
4) An animal that eats plants can also be a predator.

TRUE. FOXES AND HUMANS ARE PREDATORS AND EAT PLANTS (line 4).
5) People are doing good when trying to exterminate entire populations of predators.

FALSE. THAT IS A MISTAKEN IDEA (line 7).
6) It is very easy for a tiger to kill defenceless prey.

FALSE. THE TIGER HAS TO WORK HARD FOR ITS MEALS (line 12-13).
	(B)  USE OF ENGLISH (3 points)


7) Find in the text one opposite for WEAKNESS (noun)


STRENGTH (l. 11)






(0.25 points)

8) Give an adjective with the same root as IMPRESSION (noun) (l. 12).

IMPRESSIVE, IMPRESSIONABLE, IMPRESSED, IMPRESSIONIST…

(0.25 points)

9) Fill in the gap with the correct preposition:

She knocked ___ON/AT___ the door but nobody answered.


(0.5 points)

10) Turn the following sentence into reported speech:



(0.5 points)

The young lady said: “I did not make such a mistake.” 

THE YOUNG LADY SAID (THAT) SHE HAD NOT MADE SUCH A MISTAKE / 

THE YOUNG LADY SAID (THAT) SHE DID NOT MAKE SUCH A MISTAKE.

11) Give a question for the underlined words. 




(0.5 points)

Predators depend on animals.

ON WHAT DO PREDATORS DEPEND? 

WHAT DO PREDATORS DEPEND ON?

12) Turn the following sentence into the passive voice:



(0.5 points)


Great predators rarely eat plants.


PLANTS ARE RARELY EATEN BY GREAT PREDATORS.

13) Join the following sentences using a relative pronoun. Make changes if necessary.

I could not move my car. It had no petrol. 




(0.5 points)


I COULD NOT MOVE MY CAR, WHICH HAD NO PETROL.
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